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1. In answering the Gemara questions 072y 21 only addresses X°¥wik 27’°s question. What about the X23’s
question of 8995 *xn?

2. According to 827’s answer, it should be anw>wa "9, since one will always need 212° and not anyaaxa?

3. WX 11 says that nwnw °21 is arguing in a case of two brothers who died at the exact same moment and
their third brother can’t have Zika to just one since both happened at the same time. What would be if the
third brother was under 9 years of age when this happened and can’t do Yibum until he grows up! Since
71 1s dependent on the Mitzva of Yibum, )as well as the ability to marry), would we say that there is no
72°1 until he grows up, when both women are waiting at the same time. If that’s the case, why didn’t *wX 27
use this example, which is much more common than 2 deaths occurring at the exact same time?

4. Rashi says that Yibum can be done 1n15 9v2 and he bring the o of nnam. Since we are talking about
>27 he should bring the same oo which *27 uses on 11 77, which is 7%y X12° 72

5. Rnby7 pwTp 077 0w writes that we learn from ank woRS nnem 725 that it needs to be nyTn. Why does

he use this ,05? Don’t we always need ny7 for a 1°1p? In addition *"w= in wmn says this on the 05 of
(71,70 OWR) 79D DR TORWN W12 XIP7).

If you have any comments or suggestions please email me at Ygrunhaus@gmail.com
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